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MATHEMATICS, Paper - I
(Telugu version)
Parts A and B
Time : 2> Hours] [Maximum Marks : 50

Instructions :

1. Answer the questions under Part-A on a separate answer book.

2. Write the answers to the questions under Part-B on the question paper itself
and attach it to the answer book of Part-A.

Part - A
Time : 2 Hours Marks : 35
SECTION -1 (Marks : 5x2=10)

SPWOR0
1. So Goliony A So8ao B (9ed® w8y, o mood SDihw Dot (e T
oo D6 FHo BRGS0 a6,
2. 5%, @5 2 APE e So).

GROUP - A
(@oumres baks 120w, (hoaires, winebises)

1. “~(p=q)=pa(~q)” &2 vmgpum.

2. n(AuUB) =32, n(A) =21, n(B) = 16 wcd n(A N B) Jesd ESofitasss.

3. f:R-{1} >R &3 oo f(x)=%+i @ 0D

f(x) +f(-31;) =0, (x#0) «d 5F0d.

4. TR VCPoBHI Ao AEFeRIE.
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GROUP - B
(95 376 om0, 9 vosges, Boen)

5. a5 of (Shoaisse Dess (2, 0) $0aks (0, 5) © ¢ St 15, 12 o e

OF 5 Eloawiuse K8 od.

f ————— Dewddo BORRI0AE.
e x—q

7. l %!s 5 &3 eBdosserd, Foosed.

8. 10es BeS® 85 wean 192 $s8cks RIS DB 2 0o 1259 HEBE0 SSofed.

SECTION - II (Marks : 4x 1=4)

[ERey :
L e 300 et 35,06° Dpae metts BHoH SRrerEoes @Rk,
2. &§°L,§b @8 1 ALY, Seds,

9. RuYymsaco AsDoHonn,

2x+1

10. f(x)=2x_1 ;

(2% 15) & agdeass ghoammsssto A1) Seoiss,

11, V8x* +92+643 =0 Gk, taweres B, AT 0230 oo B,
12, oRoxre (Rodbam QT5AoWEH.
13. a?='0.09 soxd g3 E0R%0H0.

14. 33585023 © VOSRNFEHO B0 akos.
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SECTION - III (Marks : 4x4=16)

BN :
L 1oties; Group A 2000k Group B off o.8%% o eod 96 2 S5
Syt BBB® 4 (e SERGEIH EPAKIReS.
2. 5N @R 4 e o).

GROUP - A
(ESvares B08ake $Avtoes, EHsaires, eTOIsEeD)

15. $oreSiss@ o A~ (BUC) = (A-B) N (A - C) e 255bomss.
16. flx) =x-1, gle) =2°-2, h(x) =x-3, VxeR 2 250628
fo(goh) = (fog)oh &2 BvFddms.

17. @Soahu f, flx) =x + 2 3 ADotedisn bk f Goos), (B0
{x:2<x<8}. f s od @i, Tayess Bofasm.

18. 3x*-102° + 52 + 102 - 8 %o TOeFeSvT 0.

GROUP - B
(05 375 @Bewos, T Sogpge, Bioes)

19, 2 domenntion Sot 29 Solbed' o Sm oo 30 Yol Moy eiioBth. e,
TIe B8 5U%0 S By Smens esas. B8 dp FTd oo
.20/ - 5 B8 et Tovp g tir.25 /- wond 10} ogo Forw o8,
U5D T 3060 eiopiBe. (M Aassssse B).

20. y= 378 1+ 375 eassd 3y® = 10 + 9y & arved.
21. 0.5,0.55,0.555, 0.5555, ......... &S BGE° 1 Hore BooBHests BofEIs.

22, Jxo88 'n' e Sopw R0l S 9o IoBan S, Hedoks PSR Ao S,
eonsd 98] =5,(1+88,) & wmsed.
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SECTION - Iv (Marks : 1x 5=5)

(5 375 om0y, vy dsBeFes)
JAPIJe

L e 300 %08 w¥omds surorsse Fraasises.
2. w@Epo5 S0 SR,

23, y =2® [ sfowsns 2-3 + 2 = 0 S Jdesed.

24. (0B JawEre Kaolsesem f = x +y S 8% Sawod.
*¥+y26, 2x+y28 x>0 So8aiw y20.
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